Arithmetic LO: To*nw.lﬁply and divide numbers b,y 10 and 100.

| | know- that when | mLLLtLpLy, my answer will be big\qerand, when |
divide, my answer will be smaller.

[ can muLtLle and divide numhbers b,g 10 and 100.

[ understand that multtpiymg and dLdeLng b,y 10 and 100 is the same
as m,a/c‘mg a number 10 or 100 times smalter'/b.igger‘and ma,lci.n,g a
numhber 1 tenth or 1 hundredth times the size.
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On your whitehoards, answer these questions:

2 x 10
L x 10
8 x 10
il 5e e
5 x 100
/ x 100
9 x 100

[Wha,t do you notice about your answers and thﬁ

ques tions?




When we multiply, what happens to- our answer?
S0, which way will the digits move on a PV chart?
When we divide, what happens to our answer?

So, which woy will the digits move on a PV chart?
How- many spaces will they move if it is by 107

How- many spaces will thp,y move if it is by 1007
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Your turmn:

1) 34 x 10 = 9)67x______ =670
2)65x100=__ 10)640+ ___ =6.4
3)53+10=__ 11) 68 + = 6.8
L)g7x10=__ 12) 73 x = 7300

5)785 + 100 =
6) 34 x 100 =
7) 24 + 10 =

13) 542 _ 10 = 54.2
L) 473 100 = 4.73

) 124 7 100 gfgi;_edlg“ cards to fill in the missing

Jack is thinking of a 3-digit number. @@

When he multiplies his number by 100, 170+10=_

the ten thousands and hundreds digit are

the same. —20x10=3_00

The sum of the digits is 10 18 0+10=185
_9x%100=5_00

What number could Jack be thinking of?
6_ = 6400 + 100







